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SUPPLEMENTARY MATERIALS

Web Appendix

A. The derivation of Score test statistic in two models

The Fisher information matrix under Hy : 6 = 0 is given by

I(ﬂ177779) =

and its inverse matrix is given by
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where I'! is the first main-diagonal element of the inverse of the Fisher information matrix I (7,7, 6)

under Hy : 6 = 0, which is given by
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in Model II, respectively. Therefore, the Score statistic for testing the null hypothesis Hy : 6 = 0 is
given by
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where % is given in Section (3.1.2) for Model I and Section (3.2.2) in for Model II, respectively.

B. po and pp in sample size formula based on Score test statistic T,

According to I'! given in the above Appendix 1, ug and p; can be given by
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In Model II,
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C. The derivation of the validated ratio k; based on Wald test statistic T,

According to Equation (16), the validated ratio k1 based on Wald test statistic Ty is obtained

by solving the following equation:
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where v1 = A/ky + B, vog = C/k1 + D, and
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in Model II, respectively. It is easily shown that &y is the solution of the following equation:
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Therefore, the validated ratio k1 based on Wald test statistic T}, is given by
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